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O=AEXN 7 25,0003 *102f A+32 750
OF=J| gtz 40,0002 +6CH+ 122 2,880
OBZIY 428(CE EH) 72
300,000 »1CH*23] 600
O=AD| Xtz 300,000 *1CH* 122 3,600
OSgeR N o M=
280,000& »7 H+23| 3,920
OZHOIX KAzl 248
220,000& 128 2,640
SH00I28 AFK 7Y
2,500 3004 750
OZE Bal S8 2 0ICI0] P
35,0002 +20% 700
O U A=448 12,000
-HEALS 780,000 #52] 3,900
2o E we 450,000 183 8,100
OINE AHHFY 242
1,500,000 *43] 6,000
OsZ| Baael =2
484,003+ 123 5,808
OAAIE H2ABR| 48
445,000 122 5,340
O=ges 3|
8,000& 7+~ 123 5,376
OAERY |X2+ 7L
1,500, 000& *4=] 6,000
OS4aY 2H2A 248
200,000 200 2~ 400
OLPG SHAFBAIE HIIZA 242
200,000& *12] 200
OMe=x B4 =2 1,540,000& 22! 3,080
02 =22l 249,286 247,455 1,831
OAERHISTIY 91,000
2O RN SAE(SE, XY, IIH)
15,000, 0002 15,000
—SODIAEXAE SR
7,000,000& 7,000
DO FHE L AA HA
2,000,000& 23] 4,000
-8 FA2 2,000,000 *53] 10,000
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2A: 23S
FH: 2e0i=32 8435
H2el: SstolsAldael ¥ &F (e A
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
-2 KX A2IHI(7,289.42m")
17,000,000& 17,000
-HIIAE KXzl 9,000,000& 9,000
-22AIE Rzl 6,000,000 6,000
—2AUD|AHAE X2 10,000,000 10,000
-PIMAIE(HI] L M) X2
3,000,002 3,000
LA M2 Y EY)
10,000,000& 10,000
OIlot: &l 150,000 *2CH*63] 1,800
O MEE AIE=
20,0002 *5002!1 23] 3% 600
OEEEH S E=H| 1,240
-CHIIsSAFRI17] 1,300,000 = 12CH*5% 780
-Igliy 4,000,000 *2CH*2% 160
-SA| 15,000,000 *1CH*2% 300
O=Fzti=zl2 21l € 0V 2284
1,000,000& = 12& 12,000
O=23e3 87,000
N3z 150,000& * 12& 1,800
M3 6,800,000& *12& 81,600
-&ot+E 300,000& =123 3,600
O8g3ldl |2¢ 4,630
-St=E30l=3l2 HEs
4,000,000& *13l 4,000
-2 =& =20l 240,000 x2H 480
-&J|erE 2te| Xt 100,000 *13] 100
- gord e Xt 50,0002 *13] 50
OFHLSANEZ 11,0002 x2CH+ 123 264
OCIHYUAMERZ 30,000& 23| & x 122 720
OH = 43,932
-ZHIRF4I 732
FLFOI=I] S)
2,000 %30 £ *53| 300
2R (HIAEAI])
180,000& *0.2A| 2+% 12 432
—H - LR DFACH
1,600 #45kg+6 Al 2t 100! 43,200
OJtAEHA MUSBAHZ 100,000 *13] 100
Ot 2| Al S Xl2teld]
6,000,000& 6,000
03 At2ZH] 442,000 442,000 0
OJ1als3d, ™Al 442,000
-JIEEH & HA| 442,000,000 442,000
202 04d| 13,440 13,440 0




SN 28HSD
g 2si=32t 243
&el: SstolsAldael 2 24 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 13,440 13,440 0
O=2zt=ala 2 =0
13,440,000 13,440
207 ARl 14,000 14,000
02 MAHHEH] 14,000 14,000
OZHHY & HIIHEIA 28 P
14,000,000& 14,000
301 2eEN= 2,000 14,480 212,480
14 JIEt2 8= 2,000 14,480 A12,480
OXIASALAF AHI2aH(S4IH])
8,0002 x5 +50 2,000
401 AlEHIZ S 0HbI 725,0% 725,09
01 Al&H| 725,096 725,096
SUSEAE WHSA
689,400,000 689,400
Otlzal2t WE HE &4
35,696,000 *13] 35,696
405 AHaHE = 19,316 19,316
01 AL =S F=HI 19,316 19,316
ORAHEIEMAHI 2
2,288,000 *2CH 4,576
O8dsfA 4X 5,500,000 *1CH 5,500
o285l UM
9,240,000 1CH 9,240
A 2I3HI(2EH=SL) 53,417 31,592 21,825
J23HI(2etHF ) 53,417 31,52 21,825
Jl=23H] 53,417 31,592 21,825
201 fet= 3| 31,217 24,992 6,225
01 AtR2te|HI 29,210 22,985 6,225
Oget=EH| 7,870,000& 7,870
O=gHtl 5,380,000 5,380
OSAPI Xtz 400,000& «1CH* 12 4,800
O&8=J| itz 50,0002 1CH =12 600
Odd&H 42F F#4| 5,560
-ZoZelh 4,400
& 440,000 x1CH x4 523 3,520
= 440,000 *1CH*23] 880
-LBHIEIE 200,000 x2CH =23 800
—+AX 120,000 * 1CH*32] 360
OAIR4 018 A28 7Y
5,000,000& 5,000
2 s5=4g4l 2,007 2,007 0
Ol FA2=H| 2,007
-CHISAIRI10] 1,300, 0002 27 CH*5% 1,755
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FA: 2eMS
M HYRAZH(2SHSL)
Cel: J|2dHI(2S S (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-Zgly 4,000,000 *3CH*2% 240
FAX 600, 0002 *1CH*2% 12
202 04| 2,400 2,400
01 2L AL 2,400 2,400
O2stHEN BRFL o]
2,400,000& 2,400
203 g4l 4,800 4,200 600
M EA2HER=AH 4,800 4,200 600
ORA2ZYREZY| 400,000+ 122 4,800
405 AHaHE = 15,000 15,000
01 ML ESFSHI 15,000 15,000
OAtRd O1d EDIHIS 78
15,000,000 15,000
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